TAMILNADU TYPEWRITING-COMPUTER INSTITUTES ASSOCIATION

(Estd: 2015)

MODEL TEST-ENGLISH JUNIOR

Time: 10 mts.

Marks: 100

Typewrite the following in double line spacing with a margin of 10 degrees.

Television is taking part in our life. In
each and every family there is a
Television. In olden days, Radio is the
only media for communication among the
news papers. But nowadays television
plays a good or bad role. People like
television channels. Ladies mostly like
the various serials shown in the television
channels. Lot of television channels are
available. First, television channels are
operated by the Central Government
only. Later, it was extended to private
operators. Always there is a competition
among the private channels. The private
channels are mainly depend upon the
income of advertisements.
Advertisements occupies the major
portion of the serials. The family serials
mostly attract the ladies. Because of this,
the private channels take advantages of

the ladies the put more advertisements

often in the serials.

There are various good programmes like
as education, health and agriculture. But
people do not like this. They want only
entertainment channels. But school going
children and some of the parents like this
channels.

Agriculturists are seeing rthe
agriculture related programmes. There
are many suggestions to the farmers that
how to increase their produce. Therefore
the farmers seeing such channels.
Television could not be separated from
the life of 2 man. It has mingled with the
life of a man. Seeing of old films
broadcasted by some channels are
welcomed by the old age people. They

also like old songs which were often

broadcasted by some channels.
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